



StudentName: _____

ExamDate: _____ ExamScore: _____

$$9^2 - (-3) =$$

$$1^{(-1)} + (-10) =$$

$$(-9)^{(-1)} - (-2) =$$

$$2^2 - (-6) =$$

$$(-5)^2 + (-7) =$$

$$9^0 + (-8) =$$

$$(-2)^{(-2)} + 7 =$$

$$(-3)^0 - 9 =$$

$$(-10) - (-10) =$$

$$2^{(-2)} + (-5) =$$

$$8^{(-1)} - 4 =$$

$$7^2 + 6 =$$

$$(-5)^{(-1)} + (-2) =$$

$$10^{(-1)} - 6 =$$

$$7^2 - (-9) =$$

$$(-7)^{(-2)} + 7 =$$

$$5^{(-1)} - (-9) =$$

$$9^{(-2)} - 10 =$$

$$8^{(-2)} + 5 =$$

$$(-10)^2 - (-1) =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$9^2 - (-3) = 84$$

$$1^{(-1)} + (-10) = (-9)$$

$$(-9)^{(-1)} - (-2) = \frac{17}{9} = 1\frac{8}{9}$$

$$2^2 - (-6) = 10$$

$$(-5)^2 + (-7) = 18$$

$$9^0 + (-8) = (-7)$$

$$(-2)^{(-2)} + 7 = \frac{29}{4} = 7\frac{1}{4}$$

$$(-3)^0 - 9 = (-8)$$

$$(-10) - (-10) = 0$$

$$2^{(-2)} + (-5) = \left(-\frac{19}{4}\right) = \left(-4\frac{3}{4}\right)$$

$$8^{(-1)} - 4 = \left(-\frac{31}{8}\right) = \left(-3\frac{7}{8}\right)$$

$$7^2 + 6 = 55$$

$$(-5)^{(-1)} + (-2) = \left(-\frac{11}{5}\right) = \left(-2\frac{1}{5}\right)$$

$$10^{(-1)} - 6 = \left(-\frac{59}{10}\right) = \left(-5\frac{9}{10}\right)$$

$$7^2 - (-9) = 58$$

$$(-7)^{(-2)} + 7 = \frac{344}{49} = 7\frac{1}{49}$$

$$5^{(-1)} - (-9) = \frac{46}{5} = 9\frac{1}{5}$$

$$9^{(-2)} - 10 = \left(-\frac{809}{81}\right) = \left(-9\frac{80}{81}\right)$$

$$8^{(-2)} + 5 = \frac{321}{64} = 5\frac{1}{64}$$

$$(-10)^2 - (-1) = 101$$